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The figures in the margin indicte full marks.

Answer question No. 5 and any fwo from the rest.

1.  What were the major reasons behind the emergence of
New Public Management ? Discuss in brief, the major features
of New Public Management. 10+10

2. Examine Frederick Taylor’s Scientific Management
theory. What are its limitations ? 12+8

3. Define public policy. Discuss, in brief, the rational
actor model of public policy making. What are its probiems ?
4+10+6

4. Define accountability. How can the citizen ensure the
accountability of the government ? 6+14
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5. Write short notes on any fwo of the following:

(a)
(b)
(c)
(d)

5x2=10
Politics -Adrﬁinistration Dichotomy
Howthorne Experiment
Hierarchy
Right to Information.
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